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COMMERCE AND ACCOUNTANCY

Paper 1

Time : 3 Hours ] [ Maximum Marks : 300

INSTRUCTIONS

f
I

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannada
text, please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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COMMERCE AND ACCOUNTANCY

Paper 1
Time : 3 Hours ] [ Maximum Marks : 300
INSTRUCTIONS

Each guestion is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannada
text, please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 30 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D,
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PART A 4x5=20
Answer each question in about 50 words. Each question carries 5 marks.
1. (a) What is backlog depreciation ? 'Explain with a numerical example.

(b) Distinguish between the value of an unlevered firm and a levered
firm,

{¢) Define income under the provisions of the Indian Income Tax Act,
1961.

(d) What are contingent assets ? Give three examples of such assets.
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PART B 10x10=100 *

Answer each theory question in about 100 words. Each question carries 10,
marks.

Explain the relevance of principal budget in the context of managerial
planning and decision-making by citing a suitable example.

Enumerate the provisions of the Indian Companies Act, 1956, relating to
appointment of an auditor of a company.

Compare and contrast Net-Income Approach and Net-Operatiilg Income
Approach to capital structure decision.

Explain the constituents of Indian Capital Market.

Discuss the practical difficulties that you come across while adopting the
philosophy, in financial reporting, of accounting for price level changes.

The Balance Sheet of Progressive Ltd. as on 31% March, 2010 is given
below : :

Liabilities Zin lakhs Asgsets |2 in lakhs
Share Capital 160 Fixed assets 360
P& L Ak 40 Stock ' 80
13% Debentures 240 Debtors 40
Sundry Creditors 80  iCash at Bank . 40
520 ' 520

Normal return on shareholders’ fund is 20% and normal returh on
long-term fund is 18%. Future maintainable profit (before interest) is
Z 76-8 lakhs.

You are required to compute the value of goodwill as per the
capitalisation method if the capital employed is based on

(a) “Shareholders’ Fund” Approach, and
(b) “Long-term Fund” Approach.
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B. The following particulars relating to the Terminal Process are provided to

9!

you :
Particulars . Units 3

(i) Transfer from the previous process at cost 4,000 | 9,000

(ii) Transfer to Finished Stock 3,240 ?

(iii) Direct wages - 2,000

(iv) Direct materiais used — 3,000

The factory overhead is absorbed @ 400% of the direct materials.

Allowance for normal loss is 20% of the units worked. The Scrap Value

~is T 5 per unit.

You are required to prepare :
(a) Terminal Process Account,
(b) Normal Wastage Account, and

(c)

case may be.

Abnormal Effectiveness Account or Abnormal Loss Account, as the

Mr. X occupied three houses for his self-occupancy. Their particulars for

the previous year are given below : (Previous year 2009 — 10)

Particulars House X | House Y | House Z
€3] T) ()

Municipal Value 3,60,000( 9,60,000( 9,50,000
Municipal Taxes paid 40,000 80,000 90,000
Fair rent 5,40,000f 8,00,000] 10,00,000
Standard rent 450,000 6,00,000] 9,00,000
Repairs 1,50,000| 2,50,000{ 3,00,000
Ground rent paid 20,000 25,000 30,000
Insurance Premium paid 5,000{ 6.,000 7,000
Interest on loan taken for the purchase 75,000f 1,20,000( 2,00,000
of House ' '

Year of the loan 1997 - 98 | 2000 — 01 | 2005 — 06

He has suffered loss in his business, amounting to Rs. 4,00,000. '
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10.

11.

(a) Compute the taxable income under the head “Income from House
property” for the AY. 2010 - 11 in respect of Mr. X under different
options available to him and also his.fofal income under the same
options.

(b) Advise him about the house to be self-occupied to derive tax
benefit. :

From the following project details, calculate the sensitivity of the
(a) Project Cost, (b} Annual Cash flow, and (c) Cost of Capital. Which
variable is the most sensitive from the viewpoint of financial manager ? -

Project Cost 712,000
Annual Cash flow T 4,500
Life of the Project 4 years

Cost of Capital 14%

The annuity factor at 14% for 4 years is 2.9137 and at 18% for 4 years is
2-667.

ABC Ltd. has the following capital structure :
- T in lakhs
One million ordinary shares of ¥ 10 each 100
Reserve and Surplus’ 40
10% Debentures of T 100 each - 60
Total 200

The company needs Rs. 50 lakhs to execute a new praject which will raise
its operating profit (EBIT) from the current level of ¥ 40 lakhs to
¥ 55 lakhs. It is considering the following options :

(1} Issuing equity shares at a premium of ¥ 15 each for the entire
amount.,

(i) Issuing 12% debentures for raising the entire additional amount.

(iii) Raising % 25 lakhs by issuing equity shares at a premium of T 20
per share and the balance amount by issuing 12% debentures.

. The company’s tax rate is 40%.

(a) Evaluate the three options in terms of EPS.
(b) Advise the company as to which source of finance is preferable.
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PARTC 6x15=9:
Answer each theory question in about 150 words. Each question carries
15 marks.

12. Describe the variables affecting the levels of different components of
working capital.

13, Explain the steps involved in the conduct of a bank audit.

14. H. Ltd. acquired 20,000 shares of ¥ 100 each on 315t December, 2009. The
summarised balance sheets of H. Ltd. and S. Ltd. as at 3185t
December, 2009 were as follows :

Liabilities H. Ltd. | 8. Ltd. |Asscts | H.Ltd. | S. Ltd.
4 T 4 T

Equity shares| 80,00,000 |25,00,000(Fixed Assets 70,00,000 25,0.0,000
of ¥ 100 -

cach

Reserves 30,00,000 | 5,00,000 |Current Assets | 40,00,000 |20,00,000

P & L A/c | 10,00,000 [10,00,000|Investments 30,00,000 -
(20,000 shares
in S, Ltd.)

Creditors 20,00,000 | 5,00,000

Total 1,40,00,000(45,00,000|Total 1,40,00,000(45,00,000

S. Ltd. had the credit balance of T 5,00,000 in reserves and ¥ 2,00,000
in the P & L. A/c when H. Ltd. acquired the shares in S. Ltd. S. Ltd.

issued bonus shares @ 1 for every 5 shares held out of post-acquisition
profits,

(a) Calculate the Cost of Control before the issue of bonus shares.
(b) Calculate the Cost of Control after the issue of bonus.

(c) Prepare the Consolidated Bala_ncé Sheet after the issue of bonus
shares. '
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these two models are given below :

15. Modern Ltd. wants to buy a new machine to replace the old one. It has
received two offers for two models M; & M,. Further details regarding

Particulars M1 Mo
Installed capacity (units) 10,000 10,000
Fixed overhead per 2,40,000 1,00,000
annum (%)

Estimated profit at the 1,60,000 1,00,000
above capacity () '

The product manufactured by using either M; or M, can be sold at

Z 100 per unit.

Compute the break-even level of sales for each model.

Determine the level of ‘sales at which both the models will earn the

Required :
(a)
(b)
same profit.

(c)

16. Majestic Auto Ltd. is manufacturing and selling three standard produets. .
The company has adopted Standard Costing System and analyses the

Determine the model suitable for different levels of demand for the

product. -

variances between the budget and the actual periodically.

The summarised working results for the year 2009 — 10 were as follows :

Budget . Actual
Product| Selling | Cost per | Qty. sold| Selling | Cost per | Qty. sold
price per | unit (%) | (units) |price per| unit (I) | (units)
unit (%) unit (¥)
A a0 32 10,000 48 30 12,000
B 40 24 14,000 42 26 12,000
C 30 18 . 16,000 31 20 15,000

You are required to :

(a) Compute the variance in profit during the period.

(b) Also compute sales margin price variance, sales margin volume
sales margin-mix variance & sales

variance,
variance.

margin quantity

oo f st g o T T S B L S e e i T R ¢ TS L T A e L T S et Dt 1Tt St e el e e
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17. The following is thé Balance Sheet of Popular Lid.

Liabilities Tin |Assets Zin
lakhs lakhs

Equity Shares of ¥ 10 each 400 |Fixed Assets 1,000

Current Assets (T in lakhs):

Retained Earnings 400 Raw materials 200

11% Debentures 600 WIP 300

Public Deposits 200 Finished goods 150

Creditors 160 Debtors 200

Bills payable 200 Cash-at-Bank 110 960
1,960 1,960

Agsume the lf_!vel of core Current Assets to be T 60 .Iakhs.

(a) Calculate the amount of maximum permissible bank finance
(MPBF) as per all the three methods as suggested in the Tandon

Committee.

(b} Calculate the Current Ratio under each method of financing as
recommended by the Tandon Committee, assuming that the bank

has granted MPBF.
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PART D 3x30=9(
Answer any three of the following questions, (each theory question in :
about 300 words). Each question carries 30 marks.

18. Narrate the points to be kept in mind by auditor while verifying the
following :
(a) Goodwill
(b) Patents & Copyrights
(c) Share Capital

19, Critically examine the situations in which the IRR and the NPV
techniques of capital budgeting would give contradictory results. Explain
how do you resolve them.

20. The Balance Sheet of Uptodate Ltd. as on 31°* December, 2008 and the
Profit & Loss Account for the year ended 31.12.2009 were as under :

Balance Sheet as on 31° December, 2008

Liabilities 4 Assels g
Share capital 40,000 Plant & Machinery |[60,000
13:5% Debentures - 24,000 Stock 9,600
Sundry Creditors 14,400 Debtors 4,800
Cash 4,000
78,400 | 78,400
Profit & Loss Ale for the year ended 31.12-2009. '
' N 3
To Opening Stock _ 9,600 By Sales 40,000
To Purchases 18,400 {By Closing Stock 8,000
To Gross Profit 20,000 48,000
| 48,000 |
To Expenses 3,200
To Interest on Debentures | 3,240 |By Gross Profit 20,000
To Depreciation 1 6,600
To Net Profit 7,560
20,000 20,000
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22, PQR Ltd. makes a single product which seils for ¥ 30 per unit and there
is great demand for the product. '

The Variable Cost of the product is ¥ 16 as detailed below :

T

Direct material 8
Direct Labour (2 hrs) 4
Variable overhead _ 4
Total 16

The labour force is currently working at full capacity and no extra time
can be made available. One customer has approached the company with
a request for the manufacture of a special order at ¥ 8,000.

The cost of the order would be ¥ 3,000 for direct materials and
600 labour hours will be required and the variable overhead per hour
shall be ¥ 2.

Should the order be accepted ?
If yes, why ?
If not, why ?

Provide the necessary numerical workings in support of your answer.

T e e T TR B R BT U LML S S
e e T .
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COMMERCE AND ACCOUNTANCY

Paper 2

Time : 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannada
text, please refer to English text. '

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.

DFew Red : & heeod TSNy FYE PT0TO, B BY T8 Fod fedod
FEITO T TRAT. |
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PART A 4x5=20

Answer each question in about 50 words. Each question carries 5 marks.

1. (a} What is Span of Control ? Explain with an example.

(b) Define Organisational Behaviour. Explain its scope.

(¢) What do you mean by ‘Executive Development’ ? State its strategic
role.

(d) What is a virtual organisation ?
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10.

11.

PART B 10x10=100
Answer each question in about 100 words. Each question carries 10 marks.

What is an ESOP ? How might it positively influence employee
motivation ? ' '

Define power. Where does power come from ? Explain.
Compare and contrast Tall and Flat organisational structures.
“‘Johari Window’ is a tool for analysing interpersonal confliet.” Discuss.

What is an Organisational Development (Q.D.) 2 What O.D. techniques do
you advocate to help managers

(a) unfreeze an organisation and overcome resistance to change; and

(b) change and refreeze an organisation ?
Define Quality Circles. Explain their significance.
What is a personnel audit ? State the reasons for such an audit.

What is a ‘Trade Union’ as per the provisions of the Trade Unions Act,
1926 ? Explain the objectives of trade unions.

Dis_cusé the role of Worker’s Participation in Management {WPM).

“Personnel Research improves the quality of personnel policies and
practices.” Discuss.
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12.

13.

14.

15.

16.

7.

- PARTC "  6x15-90
Answer each question in about 150 words. Each question carries 15 marks.

Describe the factors influencing the organisational structure.
Critically examine Vroom’s VIE Theory of Motivation.

Compare and contrast Fred Fiedler Contingency Model and Cognitive
Resource Theory of leadership.

Discuss the recent trends in labour relations at global level,

Give a brief account of the i:echniques that you wuse for conflict
management. '

Explain how do the labour unions constrain managerial discretion.
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18.

19,

20.

21,

22,

PART D Ix30=80

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks,

Critically examine the factors that have contributed for the emergence of
Organisational Behaviour (OB) as an independent field study by the
managers in recent years.

Explain the factors influencing perception. How does perceptmn affect
individual manager’s decision-making ? Explain.

What is a learning organisation ? State its features. How do you change
an organisation to make it into a continual learner ?

Evaluate the relevance of collective bargaining in the context of pro-active
personnel policies,

Identify the factors affecting Worker's Participation in Management
(WPM). Do you think the Government can be attributed for improving
WFM in the country (i.e. India) ? Explain.

e . . . . E o . A



18.

19.

20.

21.

22.

{9) 06/2

wort D 3x30=90

FUNT oy EerTR &elc TIZNYn evgdi. Zdcdpomd CVITER
300 TR eoTodTeE. &8 gg’;m@ 30 e2087'0.

A a‘msn‘@;é’) '?orﬁ Se=oed (0.B.) ok ﬁﬁ—amﬁﬁoa‘ SBE0d WeEn
nomd ®BOT, 3,08, qu’émsﬁmﬁ T RIRTY BT, odsaa’ e.-aoa’n’%?a @R RS
@omdaﬁ;ﬂ adamsé Foon Z[oaeOA.

nefod #Hed Zew Dechzs WOBNYRY WmDA. MHbIodn o Ded
ScRgFEN TFRRTIOD desrod  FieRWET Deed Tomosh  DeThZE
aowd?ﬁ 398,

FOEODH ﬁoﬁ Hoo8R 7 AalT ﬁ’jo’m—u’m‘aigt 292, .00 ')G'o‘;'»éo&m ATeTTToN
a@omgdmoé SPEL VI, Bert BRSO ?

DoZpede  (pro-active) An08 N3y RomIe S ToThe®T BYEBOD
TFFIona, S0y mmma

SFmEsond) BRrEs FEPNY, (WPM) &, 8, VOOLRTRERS WOBNIRY
mc'a@z, 3e3E  (vomd eUSEE) WPM & FOWMRYTE, FEETH)
FITRTOMWEIED R0 NP 2RTSET 7 QE0A.



06/2

2010
TRREDTIT W SFTOR
;.D .
BIZTEF 2
o : 3 motdred] . | [riog wosrish : 300 «
eI B

T3 FFoVTY RONCT® Torin FYEFD SV FRAST.

WXy ZFer TFTY TRROIN TREADTIe (RONETT SGD
F3@) Jex) evgonvE, wdondnay; wamy evso msFod
PDPEEY  TIermen  edens  wsonsd S Opl
SLOTTLR. FGE HFTYFonE Todew woinTs, woneT
TE T8 Fonmy, TovEy, IR,

& SIS Fon doww, RN

A 20 eoBrigh
B 100 eoBned
C 90 wozneh
D 90 wosneh

T8 T INdTRE LOFNFRY 20EH0D GRNTDOLR FepRTRAD,

2o A, B 0% C o0gs of ZZnemy, smpobaen evzda.
o D oD@od ongjonatio &hwos SITX, LvIoL.

Note : The English version of the instructions is printed on the front cover -
of this question paper. '






